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Do not open this test booklet until you are asked to do so.
| INSTRUCTIONS |

1. Please correctly fill vour Roll Number in O.M.R. Sheet. Candidate will themsalf be responsible for filling wrong Roll

No.

2. At the start of the examination before attemnpting the guestion paper kindly check your test boolklet and OMR Answer
Sheet and ensure that :

*  The serial numbers of test booklet and OMR answer sheet are same.

*  All pages of test bookiet and OMR answer sheel are properly printed. All questions from S.Ne. 1 to last S.No. 180
are printed and pages from S.No. 1 to last 8. No. 32 are there in the question booklet.

In case of any discrepancy / defect the candidate should immediately report the matler to the invigilator for replacement

of test booklet and OMR answer sheet. No claim / objection in this regard will be entertained after five minules of start

of examination. Candidate will be liable for it.

Answer all questions.

All questicns carry equal marks.

Only one answer is to be given for each guestion.

if more than one answers are marked, it would be treated as wrong answer. ’

Each questicn has four alternative responses marked serially as {4), (B}, {C}, {£). You have to darken only one circle

or bubble indicating the correct answer on the Answer Sheet using BLUE BALL POINT PEN,

Use of Mobile Phone/Blustooth Devices or any other electronic gadget in the examination hall is strictly prohibited.

If any such prohibited material found with any candidate, strict action will be taken against himvher as per rule.

§. If there is any sort of ambiguity/mistake either of printing or factual nature in Hindi and English Version of the question,
the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized material is found in hisfher possession, F.LR. would be

lodged against him/her in the Police Station and he/she would liable fo be prosecuted under Section 3 of the Siate

Prevention of Unfair means Act, 1992 and Board Regulations. Board may aisc debar him/her permanently from all

future examination of the Board.
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i Who built the Chitrashala in Garh Palace of Bundi ? 5 Who was associated with "Rastapal Satyagraha" 7
(A) Rao Surian {B) Rao Aniruddh Singh (A) Vidhyadevi (B) Gotamidevi
(C) Maharao Budh Singh (D) Maharac Ummed Singh (© Kalibai (D) Ramadevi Pandey
& & 75 Iog ¥ fomgwn w5 el ew s ¢ T Wﬁ‘% 3 e w7
(A) T g (B) e afesits (4) hERd (B) e
(C) werr gufie (D) 7o SeRie © (D) e
2 Who was the composer of ‘Khuman Raso” 7| ‘
(A) Jachik Jeevan (B) Dalpat & At the time of 1857 revolt, Maharaja Takhat Singh of Jodhpur sent the army to Ajmer
(©) Jodhraj (D) Isardas under whose leadership 7
T Y B T B A ? (A) Kushal Raj Singvi (B) Arjun Singh
(A) st St (B) < | (C) Rao Ramchandra (D) Heeralal
(€) s (D) fewE o 1857&@3%5Wmﬁag@ﬁ%muﬁa@ﬁs%%ﬁﬁﬁ@ﬁﬁww‘*ﬁf ?
(A) o T R (B) ogRE '
3 In which month of Vikram Samvat is the festival of Gangaur celebrated ? S (C) " TR (D) dwE
(A) Chaitra (B) Vaishakh
(C) Falgun (D) Shravan

7 Bhup Singh was related to which peasant movement of Rajasthan 7

feer aq & Tew WE ® TR @ iR AR W ¥ 7
(A) <= (B) 3
(C) =g (D) gmaey

(A) Begu Peasant Movement

(B) Bijolia Peasant Movement

(C) Bundi Peasant Movement
(D) Bikaner Peasant Movement

W’amw‘ﬂ'mw I

4  The Chabutara of Tejaji is called ‘Than’ and the priest is called ......

(A) Sharnagat (B) Sohad

(C) Ghodla (D) Deviji : (A) &7 fram arice

I S P TgE B AR U G D - wET W@ T 1 (B) fshferar feem SR
(A) o (B) s (©) ¥& fpam eriRe

(©) (D) 2= | | (D) e feem siEEE

73 (2206) | + 2 [ P.TO. 73 (2208) | ,,%, 3 I PT.O.




8  Who suggested the name of Matsya Union in the first phase of Integration of
Rajasthan 7

(A) P. Satyanarayan Rao
(C) N. B. Gadgill

(B) K. M. Munshi
(D) Vallabh Bhai Patel

2

Tren™ Pl % g TR AR €Y AW (e @ gee eed e ?

(A) o gEEREe @ (B) &. wA. ¥4
(C) w. & Tshm (D) TEENR W

9  When was the fort of Chittor occupied by Ai{bar} ?
(A) 15 October, 1562 A.D. (B) 23 October, 1567 A.D.
(C) 25 February, 1568 A.D. (D) 15 June, 1572 AD.

awmey ¥ R & g W i@ %9 e 7

(A) 15 sraay, 1562 5. (B) 23 swrmy, 1567 %,
(C) 25 weEd, 1568 4. D) 1557 1572 %

16 Who was the architect of Kumbhalgarh fort ?

(A) Atri (B) Kumbha
(C) Samprati (D) Mandan
FETE g1 & A B a7

&) ® g
(C) wmfa (D) =ved

11 The civilization of Bagor was situated in which of the following district 7

(A) Bhilwara (B) Jaisalmer
(C) Ganganagar (D) Bikaner
AT A wva Freien ¥ ¥ e R o Re o 7
(A)  wiwrsT (B) SEEE
(C) T (D) T

73 @208 | = 4 [ PTO.

12 Which of the following ruler of Mewar was saved by Panna Dhai in infancy by
sacrificing her son 7

(A) Maharana Pratap {B) Rana Kumbha

(C) Maharana Udai Singh (D) Migharana Mokal

frefefae ¥ ¥ Yore 5 R oew @ iy omen ¥ TS 49 ¥ oW O @ SRR e
EEICH

(A) WETCO TaTT (B) oW

(C) wEToen SEaldE (D) TERET HEE

13 In which place did Arjun Lal Sethi establish the Vardhman School in 1905 7

(A) Jaipur (B) Kota

(C) Karoli (D) Udaipur
ST A A 1905 § IuEE I W WO Y W o B 6 7
(A) wEYC ®) @

(C) = (D) &gl

14 Which city is called *City of Lakes’ ?

(A) Alwar (B) Udaipur
(C) Jaipur (D) Banswara
foog W w0 T wE SR 7

(A) s (B) vwgt
(C) wagx (D) wiwamt

15 Where is the monument known as Hope Circus located ?

(A) Ajmer (B) Beawar
(C) Alwar (D) Udaipur
B gHE B AR Y S W O S ®% /uw © 7
(A) SR B) ==
©) s (D) TG
73 (2208) ] 5 [ PT.O
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17

18

i9

First Railway track in Rajasthan was opened in which of the following year ?
RN % et Y@ar @ Pt ¥ ¥ Rew oy wiew e oar ?

(A) 1873 (B)y 1853

(C) 1893 (D) 1899

Which of the following is country's richest and largest single deposit of lead-zinc ?

{A) Rewara (B) Devpura

(C) Rampura Agucha (D) Zawar

Frafrfea & € el 39 & o€ afte o o971 €9 @ U%W oW 7
(&) Er (B) wuga

(C) TEgw e (L) e

Which is the first Conservation Reserve for bears in Rajasthan 7
(A) Sundhamata Conservation Reserve

(B) Shakambhari Conservation Reserve

(C) Gothelan Conservation Reserve

(D) Rotu Conservation Reserve

TR A A & UeE SR & wear § 7

(A) grammar X 8 |

(B) sl @i &=

(C) Wdwm WRim &

D) g W &

In Rajasthan, the Project Tiger was started at which of the following wildlife region ?

(A) Sariska (B) Ranthambhor

{C) Kevladeo (D) Mukundra Hills

oRaM § Telee TR @ oy MR ® € TR gl & ¥ fear T ar 7
(A) wfcem (B) TR

(C) wawre (D) Tg=v v

73 (2208) ] sgm 5 i PT.O.

28 Which administrative division of Rajasthan has the highest maize production 7
(A) Udaipur (B) Bharatpur

(C) Kota (D) Bikaner

Py

oo & Reg werele dum § weife wew o SO BT Y 7

(A) SR (B) ¥y
(C) &1 (D) W

21 Which of the following rivers of Rajasthan does not drain into Jaisalmer Basin 7

(A) Bitki (B) Lilri
(C)  Sukri (D) Ghugri

o § F Torers @ e w9 Seeet I § e R 7
(A) Raa (B) wwst

©) e (D) =l

© 22 ‘Barr Pass’ is situated in which district of Rajasthan ?

(A) Ajmer (B) Bundi
(C) Chittorgarh (D) Udaipur
FER) T TN S e e ¥ amRea ¥ 7

(A) ewR (B) &
©) fisme (D) wege

23 Gandhi Sagar Dam is located at -
{A) Mahi Project (B) Chambal Project
(C) Jawai Project (D) Beesalpur Project

iy grTe gy SraRug ¥ -

(A)y = ghEerr T (B) wm=@ shern W
(C) vur afEm 9 (D) dreEyR IR I
73 (2208) | 7 I BT.O
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73 (2208) |

The climate of North-Eastern Rajasthan is -
(A) Semi-Arid () Humid

(C) Sub-Humid () Super-Humid

SO—qa! eI B Swary € -

(&) wE-g= (B) &
(C) So—om (D) -

The North-South extension of Rajasthan is -

(A) 862 km (B) 869 km
(C) 896 km (D) 826 km
TOTET &7 Sai-—ae Rar € -

(&) 862 Tt (B) 869 feaely
(C) 896 f&h (D) 826 &

As per the ‘India State of Forest Report - 2017 (ISFR)’ the total area under forest in
Rajasthan is - ,

R w2 e B R — 2017 (o T8 U9 aR)’ & SeR U9 ¥ §F o9 O &
(A) 841% B) 9.57%
(C) 10.41% D) 11.2%
Alfisols in Rajasthan does not occur in :

(A) Kota (B) Baran

(C) Jhalawar (D) Bundi

ST W OTwIER @el We IRl §Ey 7
(A) = B) sl

O &
= 8

(C) wwEs

[ PTO.

28 Out of the following what is the main source of Desert soil in Rajasthan 7
{A) Soil brought by ancient rivers
'{E} Grains from Satpura hills
{C) Seil brought by Chambal river
(D) Soil brought by Banas river
(AT W O A W @ B A A G ey 7
(A) v wRE g e T Ry
(B) wager w&d & B
(C) wmw & T w8 T R
(D) Tw & T W W A
29 According to 2012 livestock census which species has the maximum percentage of
total livestock population in Rajasthan 7
(A) Cow (B) Goats
(C) Sheep (D) Camel
2012 % Tgj 7O & SFTER ORI ¥ R69 U] T FW U e T W wed ofve ¥ 7
(A) T (B) =m0
© == D) =
30 Jal Mahal is situated in :
(A) Man Sagar Lake (B) Ramgarh Lake
{C) Talkatora Lake (D) Maotha Lake
W@ W Rud ¥
(A) = §r e o (B) e oW o
(C) T ww o (D) welsr 9 o
73 (2208) | 9 [ PT.O
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The relation between angle of polarization (i,) and refractive index (1) of the

medium is -

YO WO (1) AU W & avEdae (1) ¥ 99w ¥ -

(A) z'p =sin~! [w} B) ip =sin”! (p,}

(©) iy=tan"'(n) D) i,=cot{u)

The Ripple factor in a half wave rectifier with @a?’éaciier filter is -
TH HUIT @Y et & ®9 § SuEE e W % 9y ain Rewll o S quis e
T -
R L
A 4B rrC (B) 25 1R, C
(C) 0.48 (D) 1.21
{Where symbols have their usual meanings.)

(et 9%al & Ty o ¥ )

Joule-Thomson co-efficient for real gases is given by -

arafae A6t % R SE-gtee qeie e e g o

2a __,,.1..," ,gf;.
(A) cp(-ﬁ;—bj ® (RTH’)
C, \RT \ o RT

Path difference of the reflected light from thin film of refractive index ‘u’° and
thickness ‘¢ is -

U — USRS 9 ¢ AR &) Yo e § woahia froll % dw g ¥ -

(A) 2urcosr (B) 2ursinr

(C) 2ut cosr-&-%- D) ngsiﬂr—i-%

[ PT.O.

S
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35 The coherent sources whose intensity ratio is 9:1 produce interference fringe patiern.
The ratio of maximum to minimum intensity in fringe pattern is :
2l we due W Whe dee & emu 9:1 %, s i akrew s ¥ o R wioew
%! oftmaw 9 <R doal W SO §
Ay 2:1 B 4:1
{C) 9:1 Dy 3:1
36 A mass suspended to a spring has time period ‘7. If the spring is cut into 3 equal
parts and now same mass is suspended to one part of spring, then new time period
becomes —
Tw R ¥ we% T W onEhenw 7 ¥ 1 Ol REv e 3 guet uny ¥ BRe Um W
¥ € FEAT WeHl §, O AT S BIW :
T T
A) 5 B) 3
T
(C) 3r (D) %
The observed length of one meter stick moving with speed equal to half of speed of
light is :
(Ay 0.87Tm B) 1.87Tm
(C)y 050m O 150 m
O% el e Vi & AT GBI F ST BT T ¥ i IE! STEHI W §
(A) 0.87 % (B) 1.87 =
(C) 0.50# (D) 1.50 =
38 1If 2 charge ‘¢’ is placed at the cenire of the line joining two equal charges of
magnitude ‘@’ such that the system is in equilibrium, the value of ‘¢ is :
g O TivATT % e STasl W wieH ael (@ & 9en g WOl @i ey ‘g0 38 wer
g Wig & e we W W@, A ‘g0 &1 AN §
g g
(A = By —=
\ 7 2 <B> 2
N 2 g
‘ =z Ny
© = ® -
73 (2206) ] 11 [ PT.O




39 When forward bias is applied to a p - n junctions, the width of depletion region :

(A) increases (B) remains same

(C) decreases () may increase or decrease

¥ p-n €Y W okie U9 emygw e 9 %, U9 o 8F @ €
(A) w5 RN ¥ 1 (B) wwF T8 |

(C) @z ol ¥ (D) =% a1 € 9®ar ¢ |

40 The phase difference between two points on a wavefront separated by path difference

‘20 18 -
TH T W ) T W Ram @ Regell F T o e g
(A) © B) =

© o

41 According to Bohr model of an atom, the value of which of the following is an
h
integral multiple of —
ntegral multiple -

(B) Potential energy
(D) Radius of an atom

(A) Kinetic energy
(C) Angular momentum

W%WW%@R,%@ﬁ%WW%WWWW%?

(A) e Sel (B) Rufes ot
(C) @i gom (D) g @ B

42  Which of the following statements is not true about mean free path of 2 gas molecule ?
(A) Mean free path is inversely proportional to the density of gas.
(B) Mean free path is inversely proportional to the pressure of gas.
(C) Mean free path is inversely proportional to the square of the molecular diameter.
(D) Mean free path is inversely proportional to the absolute temperature of the gas.
Prer o € B ouw T o] & 9 Y 99 & foe wel W % 7
(A) =rer 9o v 9 & TTE % gEHaIdl ST §
(B) wen waa vy A9 & 9 & PSR O ¥
(C) wmed HorT U9 SRS € & IR & SguhHIUT! BNl § |
(D) wre 7w w9 AW S WA 99 F EHAEE ear ¥ |

73 205 | = 12 [ PT.0.

43  Which one of the following does not represent Maxwell's relation for thermodynamic
systems 7

o, £

¥ ¥ wiwel g Seriiie feal & e fvedw oie @ Bl i & 7

) (?:,fi] m[iif‘] o [ §§,] ..[%’f;\z
W v )y~ \as), ® v ), ~\ar),
. (ar)y (e . (ﬁﬁ,} m(i@
© (@PJV“('@SL O \37),77\ar ),

44 In photo clectric effect, the kinetic energy of electron emitied from the metal surface
depends upon -
(A) intensity of incident light
(B) frequency of incident light
(C} welocity of incident light
(D) both intensity and velocity of incident light
vl forgm v F Oy U © SmEhie soegE @) T Sen R e ¥
(A) omafyT werr & dear W
(B) omaioa gt @0 emgia uX
(C) orafag U&RT & 9 W
(D) oo Wit @ SR T 99 aF) 9%

45 The moment of inertia of a thin spherical shell of mass (m) and radius (+) about its
diameter is -

m FEEFE AR r B @ 0% T T B @ 9% 9 & OWd oed omeel v b -

A Zm ® Zm?
, B2 8 2
© 53 ) T
46 The resolving power of grating is given by :
R B FyfeT g & IRy E
(A) nN ® v,

Iy Ia
© Yy ® %
Where n = order of spectrum
and N = no. of lines drawn on grating.

e n = WagH B B
&R N = 3f& or @il g8 Yamel & e
73 @205) ] o 13 [ PTO.




47 The output of following logic circuit is given by :

48

49

50

73 (2208) ] + 14

Fre o aftoy &1 frfe fear wmn ®
A o T\\\
B O i//

:>_M;

Dans

(A) X=4+B (B) X=4-B

(C) X=A4B D) X=4@8B

The fundamental frequency of a stretched string is proportional {o

(A) inverse of the length (B) its diameter

(C) inverse of the tension (D) its mass

at@ i ¥ @ SR FgmEEEl el ¢

(A) U TEE F YSHA B (B) Sua =@ &

(C) <u% aa & Gopd & (D) U TEER &

According to Hookes law of elasticity, if stress is increased, then the ratic of stress

to strain :
(A) increases (B) decreases
(C) becomes zero (D) remains constant

W%@%m,aﬁmmm,ﬂmwamwm:
(A) wEa ¥ (B) = ¥
(C) = & o s | (D) Ret war ¥

The moment of inertia of a solid sphere of mass ‘M and radius ‘K’ about an axis
tangential to its surface is given by -

‘M gEmE g R B T el 3 e o wae & weile o % e wew el Rem
Eic I

2

(&) %MRZ ®) - MR2
() %MRZ (D) %MR‘?

[ PT.O.
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73 (2208) |

The generator(s) of the group [{1,2,3,4,5,6},%,] is/are -

(A) only 3 (B) only 5

(C) only 7 (D) both 3 and 5
77 [{1,2,3,4,5,6},X,] & v% § —

(A) Few 3 (B) &=w 5

For what values of x -

x % B el & g -
i 3 211
mx1|2 5 t||2]|=0
i5 3 21ix

3

Where O is the zero matrix of order 1 x 1.
W& O, 1 x 1 %9 & 9 Aewa ¥
(A) 2,14 B) 2,14

(C) 2,-14 @) -2,-14

If H is a subgroup of & and N is a normal subgroup of G, then I ~ i is a normal

subgroup of -
Ay G B H
<y N (D) Hand N

ofs H, G &1 % SU99E ¢ adl N, G & Yo\ SUEES &, O H AN T8 S9E
SUETE § -
(&) G (B) Ha&

(C) Na

sl 15

(D) HIn N @




e
T 1+5x% )2
o0 | 14352 ) °7

(A} Rational number (B) Irrational number ; |
z x+1 2x 3x g
(C) Integer (D) Whole number W oax’ +hx boxtd = g?ﬂx +3 x+1 x 39 RE
{2-x I2x-4 6x—1
i
b (z 55 ) . a) 0 ®) 1
-0 | 14+3x (C) -1 (D) -2
(&) whom ger (B) o dw
I+x 1 1]
©) i ©) o gem 58 If| 1 1+x 1 |=0,
% 1 i I+x

55 Which of the following is an ordinary differential equation ?

frefefae & ¥ omd wume demd gheer ¥ 7 brx 1 1}
’ g | 1 I+x 1 i-—-@,
d d 9 1 i 1+x§
(A) y+2x=-—(sinx) (B) —{(y+x)=x"+sinx
ax ax & g8 TS B YR F 9 x B 99§ -
d J (A) 0,1, 3 (B) 0,1,-3
(C) ;(cesx+tanx) =x+y 13)} yz + %% =§;(xtanx+ b (C) 6,0,-3 (D) 06,0,3
4 0 O
. o . i fferent] fon 2 e _
56  Which of the following is a linear differential equation 50 The rank of matrix 0 3 0 is equal to -
. 6 0 -5
Frefafed & @ o Res saee gemer § 7 ’
4 0 €
dy 2 . dy o .
Ay ——X"y=siniXx B -+ = 8in
&) B e rrr=sny e |0 3 0 A -
0 0 =5
dy . . dy . A 1 (B)
(C©) (d+y)==+sinx=0 (D) —=+y(y+x)=xsinx /

73 (206 | ol 16 [ PT.O. 73 (2208 | = 17
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60 The equation of a plane passing through the points {2, -3, 3%); {—iﬁ i, ~?} and 64 The function f{x)= ¥ 6x*+12x—4 VxeR is -
perpendicular to the plane 2x—4y+10z=7 is -

kY

o9 wwew @ @i, s g (2,-3,1) s (L1 -7) @ e 8w wnew
2x—~4y+10z=7 W &I 8§, ¥ -

(A) 2x—4y+10z+11=0 (B) 4x+T7y+2z+11=0

(C) 4x+2y+10z+11=0 D) 4x+Ty+2z-11=90

(A) Decreasing for x <2 and increasing for x> 2
2 a g

(B) Decreasing for x 22 and increasing for x <2
{C) Decreasing in every interval

() Increasing in every interval
G f(x)=x —6x’+12x—4 VxeR ¥ -
(A) x<2 fog gEaw ok x>2 & fre gdam

(B) x>2 @e s ok x <2 % fwg wlum

61 The points («, 0), (0, B) and (1,1) will be collinear if -
| (©) vom s ¥ By g

&g (@ 0), (0,8) o (1,1} Wi &% oft -

(A) a+B+aB=0 B) a+p=1 (D) v emaTe ¥ g adam
11
© 57! ©) of=1
65 The function f{x)=|x|+|x—1] is -~

(A) Continuous at x = 0 but discontinuous at x = 1

62 The equation of a cone whose vertex is the origin and which passes through the curve
(B) Continuous at x = 1 but discontinuous at x = 0

of intersection of ax’+ by2 ezl = 1, kdmy+nz=p is —

3G Sig @& e, Rrae O gw Ry W T aw o s 9w o + byt et =1,
k+my+nz=p ¥ [T 8, § -

(C) Discontinuous at x = Q0 and x = 1
(D) Continuous at x = 0 and x = 1
W f(x)=|x|+]x-1] & -

(A) x =0 ¥aq g x = | 9 o/
(B) x =1 daq g x = 0 T o/
(C) x=0Tux =19 &Faq

4 p (ax2 + by + sz) = (bc+my+ nz)
(B) p(wzz +by? +czz} = (be+my+ ;*vzz)2
(<) pz(ax2+éy2+czz) = (Zx+my+nz)2 (D) x=0aqWx =19 Ea

(D) p(axz +by* +czz) = (Ix+my+nz)

3,3 3
g x+ . du du .
66 Ifu=tan i( Z },th@n the value of x—+ y=— is -

63 The image of the origin w.rt. the plane x+ y+z=1 is - x—y Ox dy

T x+y+z=1 % TOF W N W aRes ¥ -

3 3
Xy du du
111 afy u=tan™ W A—t y— WARR Y -

®» 1LLY (B) (g,ge g) ( X~y J dx yay )

1 1 1 5 9 2 (A) tanu (B) tanZu
C ("—_—a N __._._) B (—5 s —)
© 33 3 ® (333 (C) cos2u (D) sin2u

73 20 | o 18 [ PTO. 73 205 ] o 19 [ PT.O.



67

68

69

70

In the group G = {(2,4,6,8): X;4}, the identity element is —
E G=1{(2,4,6,8);X¢} ¥ To"® ooua ¥ —
(A) 2 By 4
(Cy 6 (D) 8
d* y
Solution of the differential equation —5 + 4y = sin2x is -
ax
d* y
RG] “}ng~+4y=siﬂﬁx T ¥ -
ax

(A) y=cicosl2x+cysinlx ~~§=ces 2x

2x

2x X
(B) y=ce?* +cme —cos2x

(C) y=ccos2x+cysinlx +~Z—ces2x

— X
(D) y=ce™ +ce* + 7508 2x

If R={(a,b):5=|a—-1|,aez and |a]| <3}, then the range of Ris-

at R={(a,b):b=|a-1|,acz @ |g|<3},d R af@x ¥ -
(&) {1,2,3} B) {0,1,2,3}
©) {0,1,2,3,4) (D) {-3,-2,-1,0,1,2,3}

d*y  d .
Particular integral for the equation m~§”~ 2% 45 y=e " ig
dx dx
dz}’ dy —-x
e —5—2-—+5y=¢ " % fwy fiwe v ¥ -
dx dx
}. — 1 -X
9 Bl - —e
) 3 ®) 3
© -z D) e
8 D) g

73 2206 | o 20 [ PTO.

72

73

Under which of the following conditions conductance, specific conductance and
equivalent conductance are equal 7
(A) 1000 cc of the solution containing 1 equivalent of the electrolyte.

(B) 100 cc of the solution containing 1 equivalent of the electrolyte.

(C) 10 cc of the solution containing 1 equivalent of the elecirolyte.

(D) 1 cc of the solution containing 1 equivalent of the electrolyte.

e o o few Rl ¥ eweem, Rire awea @ gEie @ gowa 99 B 7
(A) 1000 cc fmma % 1 geaie Rgaede=y 8 |

(B) 100 cc fovr § 1 goule Regmereey o |

(C) 10 cc fomem o | goie Rgaagres ot |

D) 1 cc fomma 7 1 goie REmemees o |

The factors which determine the activity of a heterogeneous catalyst is —
(A) Total surface area only

(B) The number of active sites per unit amount of catalyst only

(C) Method of preparation, prior treatment only

(D) Total surface area, number of active sites and method of preparation.
TE B W BR® § 9 v sae @) o & feRor s € 7

(A) I F@ E &

(B) Fow ufen e & dow iy 3% SO @ Wl

(C) == & fafy, oew @ IR

(D) o waE &, 9T R & de o T @ f

Select the incorrect statement about the adsorption theory from the following options :

(A) The surface of the solid catalyst possess some isolated active centres having
residual affinity.

(B) Due to these centres, the molecules of the gasecus reactants get adsorbed in
unimolecular thick layer.

(C) The adsorbed reactants get activated and then react.
(D) The energy required for activation is more than that required for uncatalysed
reaction.

afriyy e & e # Prafafee Resedl & 9 o w99 @ siee

(A) Jg TUH B TOE T TS JUG UREY FE T § NI PP FERTE TN Bl S

(B) = &% & @00 TN SR STvel @ mivew Wy utd o St € §ET §

(C) oriyeifya ofheRe Wiy & o ¢ ol frar o ¥ 1

(D) wipaw & [0 wrasas o 9oQ offbw § Y 99T Sae awy sififew & fig s h
e

73 (2008 ] mgﬂ 21 [ PT.G.



74  For a reaction, the concentration of the reactant C varies with time t as shown by the 75 Real gas behaves as an ideal gas at -

S " ; 5 T o . ) R ) B , .
following graph. Then the order of the reaction is ow pressure, High temperature (B) High pressure, Low temperature

t‘m‘i

A)

ot

(C) Low pressure, Low temperature  (I3) High pressure, High temperature

Tras g, ey i & il wEEn e %

(A) @9 1§, 959 Y 9T {(B) U= T, &9 O 9T
20
;\_ (C) =9 TN, 9 9 9 (D) v T, 9 99 9
S
9 76 For a gaseous reaction : N,Oyu(g) = ZNO,{g), which of the following is correct
o L oW AT expression ?
il
{A) AH and AE are same (B) AH-AE =2RT
(C) AH-AE=RT (D) AH-AE=0 |
A) Ze B) First . .
(4) Zero (B) Fir v aiffa © N,04(g) — 2NOo(g) ¥ Rre P & & Wt who e & 7
C) Second D) N f the above
(©) Sec ) None of the abov (A) AH 9 AE & 99 99 ¢ (B) AH-AE =2RT
T Ficean o T, Srfweree &Y wrsar C @ w9 % WY 9Raad 1w H weie few (©) AH-AE=RT (D) AH-AB=0

T 13w afufew & @if & -

77 Chemical equilibrium is established, when —

(A) The chemical reaction stops.
(B} The rate of formation of production from reactant becomes zero.
é i (C) The rate of formation of production from reactant is equal to the rate of formation
% ; of reactant from product.
‘:2) 5 () There are equal amounts of reactants and production.
o & 1w 20 :?W“ 45 £ e g wniE g, 99 -
i) (A) Tl afeler o5 W T
(B) oRmHRE ¥ SWE T @ < T o W ¥
(A) = (B) wwH (C) afors ¥ IUR ¥ & ®, TUE ¥ Aee 9 & T & IUs B
(©) i (D) wade & § o w8 (D) i er® I SR B AE 99 8

el
g
o

73 @205) | il 22 [ PT.O. 73 205 | i 23




78 In the kI-H,O system, at the eutectic point —
(A) a solid mixture of kI and ice separate out.

(B) a compound of kI and water is formed.

(C) the density of the solid separating out is not equal to the mean of that of the two

components.
(D) the temperature is equal to the freezing point of water.
KI-H,O e ¥, saomsiie g @ —
(A) kI &R 9% & o Prory gue ar ¥
(B) kI i 9 &l A s9aT ¥ |
(©) g%@%mﬁawmyﬁwﬁ%m%waﬁm% |
(D) W oW & BHE B IUS BR

79 1.0M solution of which of the following is the best conductor of electricity ?
(A) Boric acid {B) Acetic acid
(C) Sulfuric acid (D) Phosphoric acid
fege 1.0M e foea o1 o= orsy gums ¢ 7
(4) afw e (B) wdfw e
(©) v o (D) wienlE o

80 Which statement about a catalyst is incorrect ?
(A) The presence of a catalyst speeds up a reaction.

(B) The presence of a catalyst changes the rate of a reaction.

(C) In some reactions, one of the products acts a catalyst for the forward reaction.

(D) It increases the free energy change for the reaction.
TO® H TN A BT AT T § 7

(A) @ @ suRufy efdiear @ oy & sor &l ¥
(B) wd® @ SuRgRy ofalsar & o7 & wEw 3T §

(©) oo sfufraret ¥, sifufrar o1 sare €, o arfufsar & o Sore & o & 5@

T E |
(D) we sifwiorar & T gomy oo aftads &) Sorr ¢ |

73 208 ] 24 [ PT.O.

~ 84

81 The increasing order of basic character of oxides MgQ, 5r0, K,O and Cs,0 is —
siemEst MgO, 810, K,0 W Cs,0 & srile 797 &7 Sga gon &9 © —
(A) MgO <80 <K,0 <CsyO {B) Sr0 < MgO < Gs5,0 <K, 0
(€ Csy0 < K0 < 8:0 < MgO (D) K,0 < Cs,0 < 8r0 < MgO
82 The half life of a radioactive element is 2.4 hours. Starting with 10 g of it, how many
grams will remain after a period of .6 hours 7
T AR O B oS oy 24 62 ¥ 1 ee 10 g ¥ 9% W, O 9.6 9 % w1e Suet Reaen
W §9 WO ¢
{(A) 1.25¢g B) 177¢g
(C) 0.623 g D) 05¢g
83 Which of the following gas may act both as an oxidizing and a reducing agent 7
Frefafieg ¥ § @99 T USRS BRE a9 SeUieie BB M & alE B BIdl 5 7
(A) H,S (B) 804
© O (D) 80,
If a compound contains atoms A, B and C. The oxidation number of A is +2, B is
+5 and C is —2. The possible formula of the compound would be —
H AR H A, B I C w] ¥ 1 A @ aifede dem 42 %, B @ +5 awm C @ 2
T | e & gelm g s -
(A) ABC, (B) A,(BC),
(C) AxBC;), (D) A4(B,C),
85 What is common among the following molecules ?
SO,, CO3%, NOj 2
(A) All have linear shape. (B) AIll have trigonal planar shape.
(C) AIll have tetrahedral shape. {D) All have pyramidal shape.
e gpell § o 9 W@ S ¥ 7
8O;, CO3%, NOj 2
(A) wi =1 gl W ¥ B) wf & ey Feriy e §
(C) vl & ool TgwaaE § (D) wf & angly ofiem ¥
73 @206) ] o 25 [ PTO
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91  Which of the following reactions will not result in the formation of carbon-carbon
bond 7

{A) Reimer-Tieman Reaction

86 Which of the following will have lowest electron affinity ?
e o & Rree seegl Sgar Preew ol 7
(A) N B O
(C) Ar D) B

(B) Wurtz Reaction

(C) Cannizzaro Reactions

(D) Friedel-Craft's Acylation

T & O Rew affem ¥ orw-wew o @ FH 6 s 7
(A Y- i

(B) & el

87 Which one of the following belongs to 3™ transition series ?

fEAdgamdul deow sSeeT S o=y t@a & 7

A Wi ( BY Ac
W } (©) #h afe
, . )
(C) Cd ) Au (D) Rrw—wreed TERm
88 The bond order of NO molecule will be — 92 For the given reaction,
NO &9 & 74 &% s — 0
Ay 3 .
@) ®) L5 ®
€) 25 D) 2.0
O
89 The oxidation number of cobalt (Co) in {CO(CN%}}“ is - is
[Co(CN)e]3~ ¥ wrawe (Co) @ aifedietor e & — (A) kMnO, /H / Heat (B) 04
(A) -6 B) -3 (€} 0,/ V,0s; 300°C (D) Cro,
(Cy +3 D) +6 < T erfalea A,
96  Which of the following is the electronic configuration of Cu+2(z=29) ? @ N t
. s
Preffeg § @ wE Cu 2(Z=29) & semeiie fearg & 7 §OF
(A) [Arl4s' 3a® (B) [Ar]4s? 3a'%4p’ T
(A) kvinO, /H' | e B) O
(C) [Ar}4s' 3d'Y (D) [Ar]3d’°
(C) 0,/ V,0s; 300°C (D) CrO,
73 (2206) | + 26 [ PT.C. 73 (2208) | + 27 [ PT.0.




93 The number of vibrational degrees of freedom of CgHs—CH, (toluene) is :

94

93

Cets—CH, (Trmgg™) = @l @as o Sl o 98 ¢
(h) 14 (B) 15

(C) 38 (D) 39

Cyclooctatetraene is —
(A) aromatic (B) non-aromatic

(C) antiaromatic (D) homoaromatic

Y W
EGTITEeReET & —

(A) T (B) wR-Tmies

(€) frodmoodts (D) wwgImies

One mole of a symmetrical alkene, on ozonolysis, gives two moles of an aldehyde
having a molecular mass of 44 amu each. The alkene is:
(A) I-butene (B) Propene

(C) Ethene (D) But-Z-ene

TH AW GEhT TEbM SR O 44 amu T SR & & A TS ol § | 9%
TEE § -

(A) 1=g=

(C) uwim

B) W=

(D) &-2-57

73 (2206) ] + 28 [ PT.O.

96

97

98

The correct order of decreasing acidic strength of the following acids is :

Iy Trichloroacetic acid

(I} Trifluoroacetic acid

(IIT) Acetic acid

(IV) Formic acid

(O wEERREls o
() TEOTEes
(1) chefem o

(IV) wite o

(A) I>M>1I>1V B) IV>I>1>11

(€ U>1>1V>1I @) I>1>1V>11

The number of structural isomers of n-Hexane is :
N5 % YOS SHETEl G 9.l § ¢

(A) 2 (B) 3

© 5 ) 8

The distance between the centres of the peaks of a doublet signal in 'H-NMR is
called :

(A) Chemical shift {(B) Spin constant

(C) Spin spin coupling (D) Coupling constant

TH-NMR # fim frme o el & %% & we @ g ssan) ¢

(A) e (B) =mw Rerlis
(C) =@wor T G (D) gw= Retisw
73 206) | 29 [ PT.0.



99  The number of Chiral centres in isocleucine is -

(A) One (B) Two
(Cy Three (D) Five
ERgEE ¥ felte W W de ¥ -

(A) T ®B) @
(Cy @ (D) u™

186 Identify the product in the following reaction :

z X3~ CH = CH- CHO— 2214 o duct
L
Frtaiaer el & Sare SOy ¢
l X~ CH = CH- CHO —=41H4 | e
/
~—CH, - CH, - CHO
@ ||
/
S3p—CH = CH-CH, OH
®) |
/
~Xy—CH, - CH, CH, OH
© |
o, /
CH, - CH, - CH, OH
73 (2206) | + 30
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